&8 STSEE HEMRREEERHTE

IE DL (HAZ: T, %) I A B 52 HY (BAL:THL %)
R3YY)THAH | R2Y4) T H4H 75 i = R3YY)THAH | R2YH)THAH =t fi
8,136,863 8,023,377 113,486 1.4 7,946,937 7,847,450 99,487 1.3

ORI FED DO 70 HE I K]
UESFREEER A - AN SR S AR EANDS: -

ORI FEM DB O 72T K]
FE MO BITHEORE 52 K O i B DI i3 (RO R B 0D 3

BRI CHAE: 1., %) BRI (HA: T, %)
R3YY)THAH | R2Y4) THA4H 75 e R3YY)THAH | R2YH)THAH Z=C] fi
393,007 45,535 347,472 763.1 635,297 270,933 364,364 134.5

ORI BEDH O 72 L]
EERATICHD R SE DI

195 TM3FE TEMDEITFRERFH TR

ORI EEN DO 72 T K]
[ B A D BB ISP SRR L B D1

IEANI0) VN (HAZ: TH, %) ISR 5 H (HAZ: TH. %)
R3Y M) FHAE | R2M4) T 54 77| fiis R3Y M) FHA | R2M4)T 54 53| fih
114,541 114,434 107 0.1 113,287 113,408 A 121 A 0.1
ORI D 72 B EEA ORIEEENDD 172 B R
i B G DI LB I S ILA 1Y TS O
SZNIDII'UN (BAZ: TH, %) HARH) S (HAZ: TH. %)
R3Y M) FHAE | R2M4)T 54 7| fiis R3Y M T A | R244)T 54 53| G
0 0 0 - 3,000 3,000 0 0.0

ORTEEDSD E 7 R A

AR L



BE205 TM3EE FERTAKEFESHFTHE

ENESDLNN (BAZ:THL %) WA 3 (B2 TH, %)
R3YY)THAH | R2Y4) T H4H 75 i = R3YY)THAH | R2YH)THAH =G (iES
1,739,113 1,717,835 21,278 1.2 1,388,973 1,421,710 A\ 32,737 A 2.3

ORI FEDDH O 70 HE I K]
THE B E B 5 OB JIABFHD I

ORI NSO TR HE A
T4 Bl e T R A5 O S HA O JLIA BREE DT

BRI CHAE: 1., %) BRI (HA: T, %)
R3YY)THAH | R2YH) T H4H 75 i R3YY)THAH | R2YH)THAH 75| (i
2,721,654 592,380 2,129,274 359.4 3,180,996 1,709,237 1,471,759 86.1

ORIEEEEDD O 7 MG I (K]
= HE R GEOK A S TR SR R A A2 D

EmE21 5 STSEE PET T KEFESHTE

OO E 72 Y I K]
= AV KSR K L B TS D 1

INESDLNN (AT : . %) L4 3 (B2 FH, %)
R3YY)THAH | R2YH) 54 0] i R3YY)THAH | R2YH) 54 ZCl i
2,005,607 2,003,104 2,503 0.1 2,010,831 2,038,780 A 27,949 A 14
ORIAEEEDHO E 72 IR A ORIAREED DO L7 s 2R
TKIE R Ok E B A D1y B IR K OV B A1 2% Dk
EAHIA (AT . %) HARISH (BAZ:FH, %)
R3YY)THAH | R2YH) 54 0] = R3YY)THAH | R2YH) 54 75| =
1,849,571 1,655,994 193,577 11.7 2,596,723 2,387,233 209,490 8.8

ORI DD 7 HE T K]
PR 7 TR FT 270372 [E A B 42 D1

ORTEEDSD E 7 R A

PRI 7 g FE i st RO



